
Mental Subtraction (within 100) No Crossing 10 (2) 
Name:                                                                          Date:   
 

ExampleExampleExampleExample    67 - 46 = 

Partition the subtrahend: 67 – 40 – 6 = 
Subtract the 10s then the 
1s: 21212121    
 

39 - 22 = 
 

39 - _____ - _____ = 
 

______ 

89 - 31 = 
 

89 - _____ - _____ = 
 

______ 

93 - 72 = 
 

93 - _____ - _____ = 
 

______ 

79 - 12 = 
 

79 - _____ - _____ = 
 

______ 

94 - 84 = 
 

94 - _____ - _____ = 
 

______ 

78 – 24 = 
 

78 - _____ - _____ = 
 

______ 

37 - 12 = 
 

37 - _____ - _____ = 
 

______ 

73 - 51 = 
 

73 - _____ - _____ = 
 

______ 

27 - 14 = 
 

27 - _____ - _____ = 
 

______ 

49 - 28 = 
 

49 - _____ - _____ = 
 

______ 

69 - 32 = 
 

69 - _____ - _____ = 
 

______ 

 

• Check each answer with addition. 
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